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# include <iostream.h>
main ()
{ int grade;

cin>>grade;
if ( grad >= 60 )
{ cout << ™ passed ™ ;}
return 0;}
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#include<iostream.h>
main ()
{int x,y;
cin>>x>>y;
if (x>y)
{cout<<x<<"is larger";}
if (y>x)
{cout<<y<<"is larger";}
if (x==y)
{cout<<"Equals";}
return 0;}
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if (condition &l )
{Statements 1;

} Statements 1 i ai 43l Lo il (§ias 13
else Statements 2 i a4 g8 o 1) Wl

{Statements 2;

}
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#include<iostream.h>
main ()
{ float mark;
cin>>mark;
if (mark>=60)
{cout<<"passed";}
else
{cout<«<"failed";}
return 0;}

#include<iostream.h>

main ()

{int x;

cin>>x;

if (x%2==0) RESS B
{cout<<"even";}

else
{cout<<"odd"; }

return 0;}
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# include <iostream.h>

main ()
{ int a;
cin>>a;

a>=60 ? cout<< "pass":cout<<"fail";
return 0 ;}
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# include <iostream.h>
main ()
{int x,y,max;
cin>>x>>y;
max= x>y ? X:y; // maxgb;anshkjanJus\GAmuAnL¢MﬂLﬂg
cout<<max<<"is greater \n";
return 0 ;}

Al if . else  @iwdl3
LIS Wy ¥ e ands ol Jal (e ¢ and) Leans (e i felse I bal) gy (S

if (1 L&l )
{
Statements 1; / /1 bdl @Eas Ja A dasie Al Glagdadl)
}
else if (2 dbal)
{
Statements 2; / /2 byl @ias Jla A i ) Glagledl
}
else
{
Statements 3; // AL Lo 8l (38a5 ane Jla 8 ddii ) Glaaladl)
}

is Aeallle siie lagin SV aaell auday 3 Cpagaia cpaae Ji) aadiual (e cally el o S0 2 7 Jla
( Al { £ /el se 4l e\aslul_;) Equals LI @L.\ ladie (ymgbuie Gladell IS Lol larger

#include<iostream.h>
main ()
{int x,y;
cin>>x>>vy;
if (x>y) {cout<<x<<"is larger";}
else 1if(y>x) {cout<<y<<"is larger";}
else {cout<<"Equals";}
return 0;}
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